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RRB NTPC – Practice Set
Answers with Explanation

1. (a) ABC ~îû AD ›•Ä›y ~î‚ G ¦þîûöì„þw
 AG : GD = 2 : 1

 AG
2 2

AD 12
3 3
    = 8 ö¢!›

 GD
1 1

AD 12
3 3
    = 4 ö¢!›

2. (c) ¢›öì„þy’# !e¦%þöì‹îû þ™!îûöì„þw xî!ßþi“þ £ëû x!“þ¦%þöì‹îû
›•Ä!î %̈öì“þÐ

3. (a) p q rq r p

r p q

a a a

a a a

     
      

     

     p q rq r r p p qa a a    
pq pr qr pq pr qra a a    
pq qr qr pq pr qra     
0a 1 

4. (c)    3 2 22 8 162 2 2 

   
23 92 2 182 2 2 

23 92 2 5122 2 2 

 2322 £z£y î,£_›

5. (b) 1!Ýþ öþ™öì̃ îû e«ëû›)œÄ
4

5
  Ýþy„þy ~î‚ 1!Ýþ öþ™öì̃ îû !îe«ëû›)œÄ

5

4
  Ýþy„þy

 1!Ýþ öþ™˜ !îe«ëû „þöìîû œy¦þ = !îe«ëû›)œÄ ôô e«ëû›)œÄ

5 4 25 16 9

4 5 20 20

     
 

 Ýþy„þy

 œyöì¦þîû £yîû =
1

1

!Ýþ öþ™öì̃  œy¦þ
!Ýþ öþ™öì̃ îû e«ëû›)œÄ

× 100

9
9 5 225 120 100 100 56 %

4 20 4 4 4
5

        
 

6. (d) îûyhßþy¢£ î†Åy„þyîû þ™yöì„Åþîû öÇþešþœ = 625 î†Å!›Ýþyîû

îûyhßþy¢£ î†Åy„þyîû îy†yöì̃ îû ²Ì!“þ îyýîû ÷”‡ÅÄ 625  = 25

!›Ýþyîû
îûyhßþyîyöì” îy†yöì̃ îû öÇþešþœ = îûyhßþy¢£ îy†yöì̃ îû öÇþešþœ
– îûyhßþyîû öÇþešþœ = 625 – 184 = 441 î†Å!›Ýþyîû

îûyhßþyîyöì” î†Åy„þyîû îy†yöì̃ îû ²Ì!“þ îyýîû ÷”‡ÅÄ 441 = 21

!›Ýþyîû
îûyhßþy îyöì” î†Åy„þyîû îy†yöì̃ îû ”%þ™yöìŸ ”%!Ýþ îûyhßþyîû öî• = 25

– 21 = 4 !›Ýþyîû

 ²Ì!“þ îûyhßþyîû öî•
4

2
 = 2 !›Ýþyîû

 îûyhßþy!Ýþ 2 !›Ýþyîû ‰þçvþüyÐ
7. (d) xyëû“þ„þyîû ‹yëû†y!Ýþîû ÷”‡ÅÄ = 6 !›Ýþyîû = 60 övþ!¢!›

xyëû“þ„þyîû ‹yëû†y!Ýþîû ²Ìßþi = 4 !›Ýþyîû = 40 övþ!¢!›
xyëû“þ„þyîû ‹yëû†y!Ýþîû öÇþešþœ = 60 × 40 = 2400 î†Å
övþ!¢!›
~„þ!Ýþ Ýþy!œîû öÇþešþœ = 22 = 4 î†Å övþ!¢!›

 ²Ìöìëûy‹˜#ëû Ýþy!œîû ¢‚…Äy
2400

4
 = 600!Ýþ

8. (c) ›öì̃  „þ!îû– xy¢œ = x Ýþy„þy

¢%”
8 8x

x
25 25

   Ýþy„þy

 ¢%öì”îû £yîû

8x
100

25 8%
x 4


 



9. (b) 3 1
4 3

4 4
 

1

4
 Ýþy„þy xyëû „þöì› 100 Ýþy„þyëû

60 Ýþy„þy xyëû „þöì› 100 × 60 × 4 = 24000 Ýþy„þyëû
 x›œîyî%îû ›)œ•˜ = 24,000 Ýþy„þy

10. (a)
5

Sin a
13


2Cos a 1 Sin a 

2
5 25

1 1
13 169
     
 

169 25 144 12

169 169 13


  

sin a 1
tan a seca

cosa cosa
  

5 5 13 18
1sin a 1 1813 13 13 1.5

12 12 12cos a 12
13 13 13




     

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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11. (b) •!îû vþzF‰þ“þy = 3x ç ¦)þ!›îû îÄy¢y•Å = x ö¢!›
xyëû“þ˜ =  × x2 × 3x = 3x3 ‡˜öì¢!›
²ÌÙÀy˜%ëyëû#–
3x3 = 1029

îy– 3 1029
x

3





îy– x3 = 343

 x = 7

 vþzF‰þ“þy = 3 × 7 = 21 ö¢!› ~î‚ ¦)þ!›îû îÄy¢y•Å
= 7 ö¢!›
¢›@ùÌ“þöìœîû öÇþešþœ = 2 ×  × îÄy¢y•Å SîÄy¢y•Å +
vþzF‰þ“þyV î†Åöì¢!›

= 2 ×
22

7
 × 7 × (7 + 21) î†Åöì¢!›

= 2 ×
22

7
 × 7 × 28 î†Åöì¢!›

= 1232 î†Åöì¢!›
12. (a) ›y˜%öì¡ìîû îëûöì¢îû ›y˜öì„þ |•¹Åe«öì› ¢y!‹öìëû þ™y£z 4, 5, 6,

9, 10, 11, 18, 20
~…yöì̃  ö›yÝþ ¢‚…Äy (n) = 8

 !˜öì’Åëû ›•Ä›y 1 n n
1

2 2 2

      
  

“þ› þ™” “þ› þ™”

1 8 8
1

2 2 2

      
  

“þ› þ™” “þ› þ™”

=
1

2
{4 “þ› þ™” + 5 “þ› þ™”}

 1 19
9 10 9.5

2 2
   

13. (a)
4 3 30 18

2 2 4 3 18 3 12
 

  

 
  

 
  

4 3 2 2 30 4 3 18

2 2 2 2 4 3 18 4 3 18

 
 
   

 
  

3 2 3 12

3 12 3 12



 

   
 

   
 

   2 2 2 22 2

30 4 3 2 2 3 2 3 128 3 4 6

2 2 4 3 18 3 12

 
  

  

8 3 4 6 120 3 90 2 9 2 3 24

4 2 48 18 9 12

  
  

  

     4 2 3 6 30 4 3 3 2 3 3 2 2 6

2 30 3

  
  

4 3 2 6 4 3 3 2 3 2 2 6     

4 6

14. (c)
5x 3y 11

2x 4y 12






îy– 60x – 36y = 22x + 44y
îy– 60x – 22x = 44y + 36y
îy– 38x = 80y

îy–
x 80

y 38


 x : y = 80 : 38 = 40 : 19

15. (b)
A B 6 8 48

B C 7 7 49
   

 A : C = 48 : 49
16. (a) sec2 + tan2 = 1

îy– (sec + tan)(sec – tan) = 1

îy– 2(sec – tan) = 1  [ sec + tan = 2]

 sec – tan = 1/2
17. (a) ›öì̃  „þ!îû– BC = CD = x

 tan =
BC

CD

îy– tan =
x

x
 = 1 = tan 45°

  = 45°
 †yŠé!Ýþîû x@ùÌ¦þy† ¦)þ!›îû ¢yöìí 45° ö„þy’ „þöìîûöìŠéÐ

18. (c) 2 îŠéîû öŸöì¡ì ¢›)œ ‰þe«î,!kþ

7 8
6000 1 1

100 100
      
  

 Ýþy„þy

107 108
6000

100 100
   Ýþy„þy

69336
6933.60

10
  Ýþy„þy

 ‰þe«î,!kþ ¢%” = (6933.60 – 6000) = 933.60 Ýþy„þy
19. (c) ›öì̃  „þ!îû– 2 îŠéîû xyöì† ‹˜¢‚…Äy !Šéœ = x

²ÌÙÀy˜%ëyëû#–
2

2
6

3x 1 576000
100

 
 
  
  
 

îy–
2

20
x 1 576000

300
   
 

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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îy–
2

1
x 1 576000

15
   
 

îy–
2

16
x 576000

15
   
 

îy–
256

x 576000
225
 

îy–
225

x 576000
256

 

 x = 506250
 2 îŠéîû xyöì† ‹˜¢‚…Äy !Šéœ 506250

20. (d) ›öì̃  „þ!îû–
!î›œ !˜öìëûy!‹“þ „þöìîû x Ýþy„þy
Ÿ“Åþy˜%ëyëû#–

500 9 69 46

x 6 46

 




îy–
500 9 23

x 6 46






îy– 23(x 6) 500 9 46   

îy–
500 9 46

x 6
23

 
 

îy–
500 9 46

x
23 6

 




x 1500 
 îÄî¢yëû !î›öìœîû ›)œ•˜ = 1500 Ýþy„þyÐ

21. (a) ›öì̃  „þ!îû–
²Ìí› ŸB%þîû vþzF‰þ“þy 2x ~„þ„þ ç !m“þ#ëû ŸB%þîû vþzF‰þ“þy 3x
~„þ„þ
²Ìí› ŸB%þîû îÄy¢y•Å 3y ~„þ„þ ç !m“þ#ëû ŸB%þîû îÄy¢y•Å 5y
~„þ„þÐ


²Ìí› ŸB%þîû xyëû“þ˜
!m“þ#ëû ŸB%þîû xyëû“þ˜

2

2

1
(3y) 2x 63

1 25(5y) 3x
3

 
 
 

 ŸB%þmöìëûîû xyëû“þöì̃ îû x˜%þ™y“þ 6 : 25

22. (b) ¢›“%þœÄ Šéyvþü
20 10

20 10 28%
100

     
 

23. (d) •!îû–
!îe«ëû›)œÄ = 100 Ýþy„þy

!îe«ëû›)öìœÄîû çþ™îû Çþ!“þ
15

100 15
100

    
 

 Ýþy„þy

 e«ëû›)œÄ = 100 + 15 = 115 Ýþy„þy

e«ëû›)öìœÄîû çþ™îû Çþ!“þ
15 1

100 13 %
115 23
    
 

24. (b) (100 – 25) = 75 Ýþy„þy !îe«ëû›)œÄ £öìœ •yëÅ›)œÄ = 100
Ýþy„þy

  1 Ýþy„þy !îe«ëû›)œÄ £öìœ •yëÅ›)œÄ
100

75
  Ýþy„þy

  225 Ýþy„þy !îe«ëû›)œÄ £öìœ •yëÅ›)œÄ

100 225
300

75


   Ýþy„þy

  Šéy“þy!Ýþîû •yëÅÄ›)œÄ = 300 Ýþy„þy

25. (d) Ÿ“þ„þîûy œy¦þ 150 120
100 25%

120


  

26. (c) x•Åöì†yœy„,þ!“þ †Áº%öì‹îû ¦)þ!›“þöìœîû îÄy¢y•Å
42

21
2


övþ!¢!›

 îe«“þöìœîû öÇþöìešþœ = 2r2 = 2 ×
22

7
 × (21)2

î†Å övþ!¢!›
= 2772 î†Å övþ!¢!› = 27.72 î†Å!›Ýþyîû
 †Áº%‹!Ýþ îû‚ „þîûöì“þ …îû‰þ þ™vþüöìî = 27.72 × 35 Ýþy„þy

       = 970.20 Ýþy„þy

27. (a)
   
  

5 2 3 1 2 35 1

2 3 2 3 2 3 2 3

  
 

   

      2 2

5 2 5 3 2 3 4 2 6 3

2 3 2 3 2 3

   
 

  

4 2 6 3
6 3 4 2

1


  



28. (a)

P Q

R

O

PR = RQ, PRQ = 90° Sx•Åî,_ßþi ö„þy’V

RPQ = RQP
180 90

2

 
 = 45°

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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29. (c)

P

Q

R
D

O

PQ = 2 × OD = 2 × 4 = 8 ö¢!›

30. (b) 2 2AB 3 4 9 16 25 5       ö¢!›

31. (a)

1 !„þ!›

1 !„þ!›1 !„þ!›

A

 ~…˜ ö¢ vþz_îû x!¦þ›%öì… xyöìŠéÐ

32. (d) A C

B D

 









 “þy£öìœ A, D ~îû !þ™“þyÐ

33. (a) 2 236 16
6 18, 4 8

2 2
   

34. (c) 3 !„þ!›

5 !„þ!› 5 !„þ!›

4 !„þ!›

A

A !î %̈ öíöì„þ öŸ¡ì †hsþöìîÄîû ”)îûc 2 24 3  = 5 !„þ!›Ð

35. (a) A

C  + B

     E   D

–

+ –

– +





D ~îû àþy„%þ›y £œ A

36. (d) A

B

O K

D

C

A ç K ~îû ›yöìGþ D îöì¢öìŠéÐ
37. (c) AXE = 30 HUT

1 + 24 + 5 = 30 8 + 21 + 20 = 49
38. (a) E F G = 5 6 7

J K L = 10 11 12
O P Q = 15 16 17
T U V = 20 21 22

39. (d) ›yöìëûîû ßþºy›# = îyîy
îyîyîû öîy˜ = !þ™!¢

40. (a) 4  ×  7  =  2 8, 14 × 3 = 4 2, 17 × 3 = 5 1,
 15 × 5 = 7 5

41. (c) STATEMENT POLITICAL
TNEMETATS LACITILOP

42. (a) A  E  R  O  : B G  U  S  :: C  O  D  L :  D  Q  G  P
1   5 18 15    2  7  21 19    3  15  4  12   4  17  7  16

43. (c) îy!„þ=!œ öîû!Ýþ‚ ¢‚ßþiy– HUDCO †,£ !˜›Åy’ ¢‚ßþiy
44. (a) P–  Q–


 –  R+  S–

 Q, R ~îû ›y!¢ £öìîÐ
45. (c) 64 = 82 = 43

729 = 272 = 93

343 = 73

46. (b) A+  B+

       
C–  D–

 A, D ~îû „þy„þyÐ

47. (b) 1 – 13

0,
1 – 12 2 – 13 2 – 12 3 – 13 3 – 12 4 – 13 4 – 12

0, 7, 3, 26 8 63, 15

48. (a) H E A L T H

G S K Z D G

N O R T H

G S Q N M

49. (a) P    N   L   J  :  I  G  E  C :: V   T   R   P : O   M   K  I
16 14  12 10    9  7   5  3    22  20 18 16   15 13   11  9

50. (c) A+  B+ + C–

        
D         E+

E, D ~îû „þy„þy B ~îû öŠéöìœ xíÅyê „þy„þyöì“þy ¦þy£zÐ
51. (b) 3     :    28  ::  5    : 126

3  + 13 5  + 13

52. (b) C     :    16  ::  F    : 49

3+1=4

3 42 6 72

6+1=7

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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53. (a)
S U M M E R

R U N N E R

19 13 13

18 14 14

W I N T E R

V I O U E R

23 14 20

22 15 21

54. (b) r tu s rt u s r t usrtu s

55. (d) T

S

R

Q

–

+

–






P+

 P £œ T ~îû ˜y“þ!˜ R ~îû öŠéöìœÐ
56. (a) þ™îûßþ™îû öë ö„þyöì’ xîßþiy˜ „þîûöìî “þy £œ S‡ ù̂Ýþyîû „¤þyÝþy ×

30) – S!›!˜öìÝþîû „¤þyÝþy ×
11

2
V

= (9 × 30) – (30 ×
11

2
)

= 270 – 165 = 105°

57. (c) 5 !›Ýþyîû

5 !›Ýþyîû

10 !›Ýþyîû10 !›Ýþyîû

10 !›Ýþyîû

xíÅyê !“þ!˜ “þ¤yîû Öîû&îû ßþiyöì̃ £z !šþöìîû ~öìœ˜Ð

58. (c)

 154 þ™,í„þ
59. (a)

7     :    30   ::  17   : 70
× 4 + 2 × 4 + 2

60. (a) D I B, H M F, L Q J, P U N
4 9 2    8 13 6   12 17 10 16  21 14

61. (d) £!îûëûy˜yîû „%þ˜%Åöìœ ”%?þ †öìî¡ì’y†yîû ö„þw xî!ßþi“þÐ
62. (b) „þ’ÅyÝþöì„þîû öîDyœ%îû& ò£zöìœ„þ!ÝþÆ„þ !¢!Ýþó ˜yöì› þ™!îû!‰þ“þÐ
63. (b) öëyöì†Ù»îû ”_ „%þ!hßþîû ¢öìD ë%_«Ð
64. (d) ¦þyîûöì“þîû î,£_› £yöìîÅ!îûëûy› „þœ„þy“þyîû !Ÿîþ™%îû öîyÝþy!˜„þÄyœ

†yöìvÅþöì̃  xî!ßþi“þÐ
65. (c) xy!œ†öìvþüîû ‹y!›ëûy !›ÍÔy !îÙ»!î”Äyœöìëûîû ²Ìí› ‰þÄyöìªœîû

£öìœ˜ £y!„þ› xy‹›œ …¤yÐ
66. (c) !vþ !vþ ~£zöì¢˜öì£yëûyîû £öìœ˜ ²Ìí› xyöì›!îû„þy˜ îûyÜTÉþ™!“þ

!ë!˜ 1959 ¢yöìœ ¦þyîûöì“þ xyöì¢˜Ð
67. (c) ˜ÄyŸ˜yœ £z˜!ÞÝþ!ÝþvþzÝþ xšþ îû&î ûÄyœ övþöì¦þœþ™öì›rÝþ

£yëû”îûyîyöì” xî!ßþi“þÐ
68. (d) ö¢rÝþÆyœ vÈþy† !îû¢y‰Åþ £z̃ !ÞÝþ!ÝþvþzÝþ œöìÇøþïöì“þ xî!ßþi“þÐ

69. (d) ‰þy‰Åþ xšþ ö˜!Ýþ!¦þ!Ýþ öîöìíœöì£› Ÿ£öìîû xî!ßþi“þÐ
70. (c) !îÙ» ~£zvþ¢ !”î¢ 1 !vþöì¢Áºîû þ™y!œ“þ £ëûÐ
71. (b) ò›Äy!‹„þ !¢vþó î£z!Ýþîû öœ…„þ £öìœ˜ !î ~¢ ˜£zþ™yœÐ
72. (b) òxy !e«öì„þ!Ýþ‚ œy£zšþó î£z!Ýþîû öœ…„þ £öìœ˜ !e«öìÞÝþyšþyîû

›y!ÝÅþ˜ ö‹˜!„þ¢Ð
73. (b) £z!uþëûy˜ xy!›Å‹ ßþ%ñœ xšþ xy!ÝÅþöìœ!îû ›£yîûyöìÜTÉîû ö”çœy!œöì“þ

xî!ßþi“þÐ
74. (a) !˜Á¬ “þyþ™›yey ¢Á™!„Åþ“þ !îKþy˜¢Á¿“þ Kþy˜öì„þ e«yöìëûyöì‹!˜„þ îöìœÐ
75. (c) îÄy„þöìÝþ!îûëûyîû î,!kþ ößþ™„þöìÝþÆyöìšþyöìÝþy!›Ýþyîû myîûy ›yþ™y £ëûÐ
76. (c) ö›yîy£zœ öšþyöì̃ îû xy!îÜñyîû„þ £öìœ˜ ›y!ÝÅþ˜ „%þþ™yîûÐ
77. (b) ”%öì•îû ‡˜c œÄy„þöìÝþy!›Ýþyîû myîûy þ™!îû›yþ™ „þîûy £ëûÐ
78. (b) £zvþz~¢!î ö¢öì„þuþy!îû öÞÝþyöìîû‹ !£¢yöìî îÄî£*“þ £ëûÐ
79. (a) £zvþzxyîû~œéôé~îû þ™%öìîûy „þíy £œ £zvþz!˜šþ›Å !îû¢y‰Åþ öœyöì„þÝþîûÐ
80. (a) ö¢yëûy£z̃  šÏ$þ ¦þy£zîûyöì¢îû ›y•Äöì› ‡öìÝþÐ
81. (a) ¢yöìœy„þ¢‚öìÙÕöì¡ì ö¢ïîûŸ!_« îûy¢yëû!˜„þ Ÿ!_«öì“þ þ™!îû’“þ £ëûÐ
82. (a) †y‹öìîû !¦þÝþy!›˜ A íyöì„þÐ
83. (a) ßþñy!¦Åþ öîûy† !¦þÝþy!›˜ éCôé~îû x¦þyöìî cöì„þ ‡öìÝþÐ
84. (a) öÝþ!œ„þ› öîû=öìœÝþ!îû xí!îû!Ýþ xšþ £z!uþëûyîû ˜“%þ˜ ö‰þëûyîûþ™y¢Å̃

!£¢yöìî !˜ë%_« £öìœ˜ !þ™ !vþ îyöì‡œyÐ
85. (a) ö„þîûœ ›ê¢Ä‰þy!¡ìöì”îû ‹˜Ä òþ™!îûî“Åþ˜›ó ²Ì„þÒ ‰þyœ% „þîûœÐ
86. (d) CARAT îy‚œyöì”Ÿéôé2020 ¢y›!îû„þ x¦þÄy¢ îy‚œyöì”Ÿ

ç ›y!„Åþ˜ ë%_«îûyöìÜTÉ ›öì•Ä £öìîÐ
87. (c) ˜ÄyŸ˜yœ „þÄyªyîû xÄyçëûyîûöì̃ ¢ övþ 7 ˜öì¦þÁºîû þ™y!œ“þ £ëûÐ
88. (b) x†Åy˜y£zöì‹Ÿ˜ xšþ ”Ä öþ™öìÝþÆy!œëûy› ~:öìþ™y!ÝÅþ‚ „þy!rÝþÆöì¢îû

¢”îû ”®îû x!ßþTÉëûyîû !¦þöìëû̃ yëû xî!ßþi“þÐ
89. (c) öÞÝþÝþ îÄyBþ xšþ £z!uþëûy xyUþy „þ˜Åyöìîûîû ¢öìD ë%_« £öìëû ‰þyœ%

„þîûœ Online Home Carnival.
90. (c) òßþºy›# xydy˜¨ †¦þ˜Åöì›rÝþ £z‚!œŸ !›!vþëûy› ßþ%ñœ ²Ì„þÒó

‰þyœ% „þîûœ Šé!_Ÿ†vþüÐ
91. (c) ¢Á±!“þ ²Ìëûy“þ ¢Äyîû í›y¢ !¢˜ ö„þy˜Åy!îû !¢öì̃ ›yîû ¢öìD ë%_«Ð
92. (a) ‘Night of the Restless, Spirits: Stories from

1984’ @ùÌsþi!Ýþîû îû‰þ!ëû“þy ¢îûî!‹ê !¢‚£Ð
93. (b) ‰þ#˜ ²Ìí› 6G ¢ÄyöìÝþœy£zÝþ vþzêöìÇþþ™’ „þîûœÐ
94. (d) ö›rÝþyœ ö£œí övþ ²Ì!“þîŠéîû 10 ˜öì¦þÁºîû þ™y!œ“þ £ëûÐ

2020 ¢yöìœîû !í› £œéôô ‘Mental Health for All :
Greater Investment Greater Access.

95. (b) öœíyîû ö¢Qîû !ßþñœ „þyvþz!ªöìœîû myîûy ‰þyœ% „þîûy ö›yîy£zœ
xÄyþ™!Ýþîû ˜y› £œ SCALE India.

96. (b) ö¢öì¢œöì¢îû ˜“%þ˜ îûyÜTÉþ™!“þ £öìœ˜ çëûyöìîœ îûy›…œyî˜Ð
97. (a) ‹y£y‹ ›sþföì„þîû ˜y› þ™!îûî“Åþ˜ „þöìîû îûy…y £œ î¨îû– ‹y£y‹

‰þœy‰þœ ~î‚ ‹œþ™í ›sþf„þÐ
98. (d) 2020 ¢yöìœîû ¢y!£öì“þÄîû ‹˜Ä ö‹!¢!î þ™%îûßþñyîû öþ™öìœ˜

~¢ £!îûŸÐ
99. (a) ¢Á±!“þ ²Ìëûy“þ ¢yMþéy›y˜ !œöìÁºy !¢!„þöì›îû ›%…Ä›sþf# !Šéöìœ˜Ð
100. (a) 2020 ¢yöìœîû xy£z!þ™~œ ²Ì!“þöìëy!†“þyëû xöìîûO „þÄyþ™

!‹“þöìœ˜ ö„þ ~œ îûyýœÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


